=B RRRGEAGEE (P EH)

No.1

mm1pE [ZEER EEI5A BRTS5A2K]

LE | B FEX & wE
yl | BB EES(m) 0.20 &N
y2 | BEE(m) 2.00
z | EEOH(m) 0.60
11 vyl/z 0.33
12 y1+vy2)/z 3.67
f1 |11 o0#KRIE 0.168
f2 | oDk iE 0.547

f | RFASTEMEREK (f2 x (yl +y2)-fl xyl)/y2 0.585 @
n | BSTEAERIG (M IERT) 0.790 | B SHEREL
nC | BSTBERIGE(HIER) nxf 0.462

ME1ME [ZEEE ERNS5A BiRTS5A2#]

5| & FEX & wE
yl | EELEEE(m) 0.20 EEED
y2 | BEE(m) 1.40
z | EOHE(m) 0.60
11 yl/z 0.33
12 (y1+vy2)/z 2.67
f1 |11 oO#KRIE 0.168
f2 | 2ho0#kiE 0.483

f | RFASTEMEREK (f2 x (yl +y2)-fl xyl)/y2 0.528 (@
n | BSTEAERIG IR (M IERT) 0.790 | B SHEREL
nC | BT BERIGE(HHIER) nxf 0.417

ME1ME [ZEEE ERNS5A BiRTS5A2#]

RB5| & REES & wE
yl | EELEE(m) 0.20 EEED
y2 | BEE(m) 1.40
z | EOHE(m) 0.60
11 yl/z 0.33
12 (y1+vy2)/z 2.67
f1 | 11ho0¥EE 0.168
f2 | 2ho0#ERiE 0.483
f | BREASERHEZRYK (f2x (yl +y2)-fl xy1) /y2 0.528 | A
n | BSTEERIGER(FIERT) 0.380 | [EF
nC | BETEARISE(fHIER) nxf 0.201

BE 2R [—EHEE EENSA ERT5A21K]

L5 | B FEX & wE
yl | BB EES(m) 0.20 | EEHD
y2 | BEE(m) 1.20
z | EEOH(m) 0.60
11 vyl/z 0.33
12 y1+vy2)/z 2.33
f1 |11 o0O#ERE 0.168
f2 | 2ho0kiE 0.454




BEHARRGEAGEE I EH)

No.2

f | EIGAESTEHEREK (f2x (yl +y2)-fl xy1)/y2 0.502| ™
n | BSTEAERIGER(FIERT) 0.790 | BSHERKEL
nC | BSTEARISE(fHIER) nxf 0.397

BE 2R [—EHEE EENSA ERT5A21K]

LE | B FEX & "5
yl | BB EES(m) 0.20 &N
y2 | BEE(m) 1.20
z | EEOH(m) 0.60
11 vyl/z 0.33
12 y1+vy2)/z 2.33
f1 |11 oO#KRIE 0.168
f2 | 2ho0#kiE 0.454

f | RFASTEMEREK (f2 x (yl +y2)-fl xyl)/y2 0.502 | m
n | BSTEAERIG IR (M IERT) 0.790 | B SHEREL
nC | BSTBERIGE(HIER) nxf 0.397

M2 [ZEEE SERNS5A BiRTS5A2#]

RB5| & REES & wE
yl | EELEE(m) 0.20 EEED
y2 | BEE(m) 1.40
z | EEOH(m) 0.60
11 vyl/z 0.33
12 y1+vy2)/z 2.67
f1 |11 oO#KRIE 0.168
f2 | 2ho0#kiE 0.483

f | RFASTEMEREK (f2 x (yl +y2)-fl xyl)/y2 0.528| m
n | BSTEAERIG (M IERT) 0.790 | B SHEREL
nC | BT BERIGE(FHIER) nxf 0.417

JE1fE [ZEEE ERNS5A BiRHS5A2#]

RB5| & REES & wE
yl | EELEEE(m) 0.00 | FE£EL
y2 | BEE(m) 1.20
z | EOHE(m) 0.00
I 20.00
12 20.00
f1 |11 o0¥ERE 0.800
f2 | 2ho0#xRiE 0.800

f |EIGAESTEHERE (f2x (yl +y2)-fl xy1)/y2 0.800 | Jt
n | BSTEAEIGER(FIERT) 0.790 | BSHERKEL
nC | BETEARISE(fHIER) nxf 0.632

FE1RE [CEEE EENSA ERTS5A21K]

L5 | B FEX & "5
yl | BB EES(m) 0.00 | Ee£&EL
y2 | BEE(m) 1.20

z | EEOH(m) 0.00




ZAHBIEEHEE(AER) No-3
11 20.00
12 20.00
fl [I1ho0%hxiE 0.800
f2 [ 12ho0%iFxk{E 0.800
f | RGESHERHEFRY (f2x (y1 +y2)-fl xyl)/y2 0.800 4t
n | BSTEAERIGER(FIERT) 0.790 | B ERKEL
nC | BSTEARISE(fHIER) nxf 0.632
FE1RE [CEEE EENSA BRTS5A21K]
RE| & FEX & wE
yl | EBEEEE(m) 0.00 | Ee£&L
y2 | BE&(m) 2.00
z | EOH(m) 0.00
11 20.00
12 20.00
fl [11ho0%ixk(E 0.800
f2 [ 12ho0%hxk(E 0.800
f | BIGASTEMERK (f2x (yl +y2)-fl xyl)/y2 0.800 | it
n | BSEAERISE(FEIERD) 0.790 | B §HERKEL
nC | BT BERIGE(FHIER) nxf 0.632
JE2E [CEHEE EENSA ERTS5A21K]
RE| & FEX & wE
yl | EBEEEE(m) 0.00 | Ee£EL
y2 | BE&(m) 1.20
z | EOH(m) 0.00
11 20.00
12 20.00
fl [11ho0ix(E 0.800
f2 [ 12ho0%hxk(E 0.800
f | BGASTEMERK (f2x (yl +y2)-fl xyl)/y2 0.800 | it
n | BSEAERISE(FEIERD) 0.790 | B §HERKEL
nC | BSTBERIGE(HHIER) nxf 0.632
Jtw2fE [ZEEE SRS BiRHS5A2#]
BE| & FER & wE
yl | ER ELEE(m) 0.00 | FE£EL
yv2 | BEEm) 1.20
z | EOHE(m) 0.00
11 20.00
12 20.00
fl [I1ho0%hxkiE 0.800
f2 [ 12ho0%ixk{E 0.800
f | MGASTEMERK (f2x(yl +y2)-fl xyl)/y2 0.800( it
n | BSTEAERIGER(FIERT) 0.790 | B FHERKEL
nC | BSTRESE(HIER) nxf 0.632

Jbm2pE [CEERE SRS BERTS522K]




ZRHBRMEERTEE (SEH) No-4

BE| & FER & wE
yl | ER ELEE(m) 0.00 | EE£&EL
yv2 | BEEm) 1.20
z | EOHE(m) 0.00
11 20.00
12 20.00
fl [I1ho0%hxkiE 0.800
f2 [ 12ho0%ixk{E 0.800

f | MIGASTEMERK (f2x(yl +y2)-fl xyl)/y2 0.800( it
n | BSTEERIGER(FIERT) 0.790 | B ERKEL
nC | BSTEARISE(fHIER) nxf 0.632

JE2E [CEHEE EENSA ERTS5A21K]

BE| & FEX & "5
yl [ EEBLEEE(M) 0.00 | FE£EL
y2 | BE&(m) 1.20
z | EOH(m) 0.00
11 20.00
12 20.00
fl [11ho0ix(E 0.800
f2 [ 12ho0%ix{E 0.800

f | MIGASTEMERK (f2x(yl +y2)-fl xyl)/y2 0.800( it
n | BSTEAERIGER(FIERT) 0.790 | B ERKEL
nC | BSTEARISE(fHIER) nxf 0.632

JE2E [CEHEE EENSA ERTS5A21K]

BE| & FEX & e
yl [ EEBLEEE(M) 0.00 | FE£EL
y2 | BE&(m) 1.20
z | EOH(m) 0.00
11 20.00
12 20.00
fl [11ho0ix(E 0.800
f2 [ 12ho0%hxk(E 0.800

f | NBBASEMHERS (f2 x (yl +y2)-fl x y1)/y2 0.800 | Jt
n | BSEAERISE(FEIERD) 0.790 | B #hERKEL
nC | BSTBERIGE(HHIER) nxf 0.632

JLm2pE [ZEEE FIBH5A BiRHS5A2#K]

BE| & FER & wE
yl | ER ELEE(m) 0.00 | FE£EL
yv2 | BEEm) 1.20
z | EOHE(m) 0.00
11 20.00
12 20.00
fl [I1ho0%hxkiE 0.800
f2 [ 12ho0%ix{E 0.800
f | MIGASTEMERK (f2x(yl +y2)-fl xyl)/y2 0.800( it




ZAHBIEEHEE(AER) No-3
n | BSEAERISE(FEIERD) 0.790 | B #hERKEL
nC | BSTBERIGE(HIER) nxf 0.632

RE1fE [ZEERE ERNS5A BiRT5A2#]

BE| & FER & wE
yl [ EEBLEZEE(m) 0.00 | Fe£&EL
yv2 | BEEm) 1.20
z | EOHE(mM) 0.00
11 20.00
12 20.00
fl [I1ho0%hxkiE 0.843
f2 [ 12ho0%ix{E 0.843
f | MIGASTEMERK (f2x(yl +y2)-fl xyl)/y2 0.843| =
n | BSTEAERIGER(FIERT) 0.380 | BEF
nC | BSTEARISE(fHIER) nxf 0.320

RELRE [CEHERE BN ERT5A21K]

RE| & FEX & wE
yl [ EEBLEEE(M) 0.00 | Ee£&L
y2 | BEE(m) 1.20
z | EOHE(mM) 0.00
11 20.00
12 20.00
fl [I1ho0%hxkiE 0.843
f2 [ 12ho0%ixk{E 0.843
f | BREASERHEZRYK (f2x (yl +y2)-fl xy1) /y2 0.843| &

n | BSTEERIGER(FIERT) 0.790 | B ERKEL
nC | BSTEARGEFRHER) nxf 0.666

WRE2RE [CEHEE EENSA BRTS5A21K]

BE| & FEX & wE
yl [ EEBLEEE(M) 0.00 | Ee£&L
y2 | BEE(m) 1.20
z | EOH(m) 0.00
11 20.00
12 20.00
fl [I1ho0izxk(E 0.843
f2 [ 12ho0%hxk(E 0.843
f | BGASTEMER (f2x (yl +y2)-fl xyl)/y2 0.843| &

n | BSEERISE (R IERD) 0.790 | B #hERKEL
nC | BSTBERIGE(HHIER) nxf 0.666

EE1ME [ZEEE SRS BRTS5A2#]

BE| & FER & wE
yl [ EEBLEEE(m) 0.00 | Fe£EL
y2 | ®E&E(m) 0.60
z | EOHE(m) 0.00

11

20.00




ZAHBIEEHEE(AER) No-6
12 20.00
fl [I1ho0x(E 0.843
f2 [ 12ho0%hxk(E 0.843
f | RBBASEHERSK (f2 x (yl +y2)-fl xy1)/y2 0.843| 7
n | BSEAERISE(FEIERD) 0.790 | B SHEREL
nC | BSTBERIGE(HIER) nxf 0.666
EE1ME [ZEEE ERNS5R BiRTS5A2#]
BE| & FEX & wE
yl | ER ELEE(m) 0.00 | EE£&EL
y2 | BEE(m) 1.20
z | EOHE(mM) 0.00
11 20.00
12 20.00
fl [I1ho0%hxkiE 0.843
f2 [ 12ho0%ixk{E 0.843
f | RGESHEBERYK (f2x (y1 +y2)-fl xyl)/y2 0.843|
n | BSTEERIGER(FIERT) 0.790 | B ERKEL
nC | BBEGER(FHIER) nxf 0.666
2k [ZEEE SRS BiRTS5A2#]
BE| & FEX & wE
yl | ER ELEE(m) 0.00 | FE£EL
y2 | BEE(m) 1.20
z | EOHE(m) 0.00
11 20.00
12 20.00
fl [I1ho0%hxkiE 0.843
f2 [ 12ho0%ixk{E 0.843
f | MIGASTEMERK (f2x(yl +y2)-fl xyl)/y2 0.843| 78
n | BSTEERIGER(FIERT) 0.790 | B ERKEL
nC | BSBERGER(FHIER) nxf 0.666




